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Compute the following integrals by integration by parts.

1)/952 Inzdzx. 2)/warctana:d:c. 3)/ln:cdx then /(lnx)2 dz. 4)/cosxexpxdm.
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Calculate the following integrals, specifying the integral domain definition if is necessary:

1)/ sin® x cos® zdz. 2)/ cos® xdx. 3)/ cos® x sin zdz.
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Calculate the following integrals by changing the variable.
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Calculate the area of the region bounded by the curves of the equations
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Determine the solution to the differential equation 0*1’9\9-\“ Ss\Ra) IS s s
3y +4y =0
which satisfies the initial condition y (0) = 2. y(0)=2 é\}.&;}l\ b i) gaso Sl
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Let the differential equation be: S Gubiolail) &dsiRal! olid
Yy + 2zy = . (E)
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Find the solutions to the homogeneous differential equation.

y(0) =1 8883 W (E) 6ds\Rall Yol asq (2
Find the solutions to the equation (E) which satisfies y(0) = 1.
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We propose to integrate over the largest possible interval in |0, 00[ of the differential equation:
, x
R )
(E) &5\%a yp 0\&- I y(2) = az 2as a €]0,00] aq) (1

Find a €)0, 00] where y(z) = ax is a particular solution yy of equation (E).

16abo\ail) sl2al) J) () slal) Jgsa y(x) = yo(a) — o5+ &) & oF =8 (2
Prove that changing the function: y(x) = yo(z) — Z(lm). Converts the equation (E) to the

differential equation:
2 (x) + (6x + i) z(z) = 1. (Ey)
Solve (Ey) by 10, 0ol J0,00[ Je (1) Jois 191 (3
10, 00[ J& &8 2l (E) &ds\rall Jols 3F 591 (4

Find all solutions to the equation (E) defined on ]0, col.
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Let the following differential equation

y'+2y=0
Solve this equation. S\ 0a® U (1

£(0) = 1:600631 by il gass g Gialudl Sybolaid) adslral) Y sass ) f &1l asql (2
J1(0) =24

Find the function f that solves the previous differential equation and that satisfies the
following conditions: f(0) =1 and f'(0) = —2.
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